2025EFEF

(XA DER] (B M)
B B 2024 FEFH | 20245 ERE | 2025FEFE | FHLERERE |#E GEE
1. &% 23,545,000 | 24,031,500 | 23,303,000 A 242000
1) EREQR - BAREKS| 23,373,000 | 23852500 | 23,128,000 A 245000
2) A 172,000 179,000 175,000 3,000
2. A 71,000 139,265 71,000 0
1) ZHFE 1,000 595 1,000 0
2) A 70,000 103,670 70,000 0
3) Wb - BEBEERSE 0 35,000 0 0
3. FIFERHE 23,752,182 | 23,752,182 | 18,538,641 A 5213541
v A&t 47368182 | 47922947 | 41,912,641 A 5455541
[ZHDER] (B M)
H H 2024 EFHE | 2024 FEERE ([ 2025FEFE | FELLKIER (B2 EEgw
1. BINESHEE 24,980,000 | 22,740,887 | 23,590,000 A 1,390,000
1) BIVEBRAED 8,200,000 7,950,000 8,000,000 A 200,000
2) BN EERMHED 5,000,000 4,988,500 5,000,000 0
3) O EBNEEDIHED 7,650,000 5,904,551 6,510,000 A 1,140,000
DeEMITE 2,880,000 2,580,000 2,580,000 A 300,000
Qf fh i Bh 3,000,000 1,940,171 2,000,000 A 1,000,000
©EJ0Liuk= 1,770,000 1,384,380 1,930,000 160,000
4) FEFREHE 3,180,000 3,303,938 3,180,000 0
5) FNEHRAKEKE 950,000 593,898 900,000 A 50,000
OILEEHE K 300,000 0 300,000 0
QENEBHEREERE 650,000 589,398 600,000 A 50,000
BRERST VT 47 0 4,500 0 0
2. BERERBKREEX 4,501,000 4,374,450 4,413,000 A 88,000
1) PAEEHRLEGERR 2,041,000 2,045,470 2,063,000 22,000
2) ¥4 - CEHBRARR 2,460,000 2,328,980 2,350,000 A 110,000
3. —HiaEEE 1,600,000 900,000 1,000,000 A 600,000
4. XIEEMEE 72,000 73,500 72,000 0
5. BERENERE 20,000 214,605 200,000 180,000
6. PHEETRREE 400,000 400,000 520,000 120,000
7. #EFoLUS IOV REE 300,000 254,860 300,000 0
8. BHEBEHAEL(IBIOFHE) 400,000 38,036 100,000 A 300,000
9. EHE 310,000 283,610 300,000 A 10,000
10. #%8 60,000 104,358 60,000 0
11. FHE 14,725,182 0| 11,357,641 A 3367541
12. REERBRH 0| 18538641 0 0
X H Ft 47368182 | 47922947 | 41,912,641 A 5455541
BESORRE (EEFES)

R172 [(OEFEEE] 2024 EEFE | 2024 EFRE | 2025EEFEFE | FEHLKER 5 &
JtimE R AT [0010811] 10,000,000f  10,000,000{ 10,000,000 0
tEEAeE [0312004) 10,000,000f  10,000,000{ 10,000,000 0
tmEFHEeE [8690981) 5,000,000 5,000,000 5,000,000 0
BRELPRME [02213574)] 5,000,000 5,000,000 5,000,000 0
tFfEA&E  [0166643) 5,000,000 5,000,000 5,000,000 0

& it 35,000,000/  35,000,000f 35,000,000 0




